Silly Sammy Seal (Integral Evaluation)
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1

jex dx= NOMATCH (answer = e —1)

0

K

j 1
J'coszxdx=£+—
8 4
0
Isechdx: NO MATCH (answer = %In|se(:2x+tan2x|+C)

~

X _ NOMATCH (ansxver=3in1(5j+c3)

) 4-x? 2
2

2 _1n3)
J X +
0

X __ NOMATCH (@nswer = In(In|x])+C)
J xlnx

.[cos3xdx: NO MATCH (answer = sinx—%sin3x+C)

_[tan xdx= NOMATCH (answer = In|secx|+C)

J’[ﬁJri] dx:X—22+2x+In(x)+C

x
; 128
j(xz—singx)dx:—
3
-4
sz—x= NO MATCH (answer = Tan*(x—1)+C)
X“=2X+2
In3
J'ezx dx =4
0

1
jx 4-x%dx= NOMATCH (answer = g—ﬁ)

0

3
I|x|dx:5
1

J de4 = 1Tan‘lszrC
1+x 2




101z

= 202)

[ |sinx|dx= NOMATCH (answer

Silly Sammie Seal turnsinto Serious Sally Swan:
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